TRISHESH 2R A A % | |RE ok L |8 E#Y A v — b
~ \ , Y yan; "5“ 43 rger
T4 — R @A ) N BERE A IS G B 2 1+ 4 it J 2 D3 T3 | 2 | S E IO A El @
T #:Af2fE12 18H ~5F134E9 /1 13 H 7 |3 [err~ozemE
B-EQ| 1 2 3|14[5]|6 7 8 9 | 10| 11|12 13| 14| 15| 16| 17[18|19]| 20| 21| 22|23 |24 |25|26|27|28|29]|30| 31 - e
AR BlR K KA 2l BlBl k| kX2 L[B][A X[ K[ X2 LA &KX 2][L[B][A[X ki
T W7 1L R
MET
W 1 - S — (PN
T s T W —5 2 —E 2
E¥ELT
HRL - #5H
K= 7)) —hk
Rl Eas 4TRR
DR T
R LR
T
YRR T
7 i ) ——
2 2 > Jiti 1At 1=185.3m
7 o
ﬁ = A s V=1,100m
% &7 F T E A W
= s |7EyZFBIL A=551nd
| S
i = sz T 1.=186m
TSNS E TSI LB PeEN S5 BRI OO 555 S BENR L — Ol B A 055 Fik
AREO-FEQ 7 3 5 3
YRZFEA |G 1 2 1 2
D @+ @ =@ 8 5 6 5
z by KE DI <N HD N e
y OKEDTFREME }d ﬁ % ;’: o | emILE/E 4 apl b | fERIE R RS T AR T~0 fé?ﬁn‘@%‘% EERTOFRT, K]
! &
2 - 2 | - LYY fi% B RELT 5, .mm 15,
7 RUEUTRIRR T D% B
z| @ FC-EE 1611519 1 7 VA [ERRED % DRI, RO R, SKFFESNBY A DR
mlo% FERE B % | 3~5lEl/A 2 B (B e o 3~6R | fERRBOMRBEIT VR LERDE
Bl = (4B LLE) 1413] 815 4 i U BB RS AT S RO E .
? K= > e
Hla | Gaem [rne]s e d e
B W\ | 2L T/ A 1 10~125 80k |%
NS 104]2]1 F’*iﬁ@fﬁéé"’ [ B




